%2

Hif

2014 PER)SRAGAEHT T ECE 55 3 ]

,6

) ZOEFEORABRCELIZ, FPLCESZ2D
HPx LD, ZDOLE=AMP—-EFHOAEEL
RDIREY,

6] A
PR R
B .
// I P C
, E—7F
3 y
F G
A
6,
S
BEa—— 2l
/ E_ -~ S D
3 4 7
N 35
F G

E

3v5
#ha

O CFOESERDD,
CF=462+32
=445
= 3/5

@) EP@Eé’@k&béo[:) EP=x L& !
FP2 =62 — x2 )

FP? = (3Y5)%— (9—x)? ﬁ
62 —x2= (3v5)%— (9—x)?

36 —x2= 45 — 81+18x— x2

[ELF AR =S4T

X2 4+ x2—18x = 45— 81—36
—18x =— 72
x = 4 (EPOES)

@ PQDEIERD5,

AEQPE AEGCITHEI 2 = AT
AL EP:EC= 4:9

PQ:CG=4:9
g
PQ: 3 =4:9
IPQ=12
4
PQ:§

@ =AP—EFHOEREZ kD 5,

5 x [Ema | < [f s | =[ o]

1 1., 4 _ 3
3 X6X6X 5 X 5 = 8(cm3)

2 8(cm3)




